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For a 50 nm box

2 nxx
In[1066]:= phiS[n_][x_] := — sin[ ]
50 50

nf1o671= fp[x_, k_] := Exp[ 1 k x]

50
infiosel= as[n_][k_] := Simplify[j fp[x, -k] phiS[n] [x] dx, Assumptions » {n € Integers}]
0

In[1069]:= as[n] [k]

10 (1-(-1)"e™ik) ny

Out[1069]=
-2500 k? + n? n?

In[1070]:= coefS[n_][k_] := Simplify[aS[n] [k] aS[n] [-k]]
In[1071]:= coefS[n] [k]

100 (1- (-1)" e k) (~1+ (-1)" e *¥) n? 52

out[1071]= — .
(-2500 k2 + n? %)

Plot[{Evaluate[Chop[N[coefS[1] [k]]]1}, {k, -1, 1}]

SAborted

In[1072]:= ¢l = Table[{k, Evaluate[Chop[N[coefS[1][k]]]]}, {k, -1, 1, .01}];
c5 = Table[{k, Evaluate[Chop[N[coefS[5] [k]]]]}, {k, -1, 1, .01}];
cl5 = Table[{k, Evaluate[Chop[N[coefS[15] [k]]]]}, {k, -1.5, 1.5, .01}];
cl01l = Table[{k, Evaluate[Chop[N[coefS[101] [k]]]]}, {k, -10, 10, .1}];

7t/ 50.

0.0628319

In[1083]:= ListPlot[{cl}, Joined -» True, PlotRange » {{-.5, .5}, All}, AxesLabel » {k, ¥1}]

Y1

Out[1083]=
-04 04
75 /50.

0.314159
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In[1082]:= ListPlot[{c5}, Joined -» True, PlotRange » {{-.8, .8}, All}, AxesLabel » {k, ¥5}]

¥5
25+

20 [

Out[1082]=

7t l5/50.

0.942478

In[1081]:= ListPlot[{c15}, Joined » True, PlotRange » {{-1.5, 1.5}, All}, AxesLabel » {k, €15}]

Y15
25

20|

Out[1081]=
10f
Sl
-15 -10 -05
71101/ 50.
6.34602

In[1080]:= ListPlot[{c101l}, Joined -» True, PlotRange - All, AxesLabel » {k, £101}]

Y101

15+

Out[1080]=




